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2. Solve the equation
23 = 4\2 — 4\2i,
giving your answers in the form r(cos 8 + 1 sin 8), where — 7 < 0 < 7.
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3 ~ 2 _
|2 | = ./(4!5) +(-4£) = [32432 =8
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arq (2%) = J‘F N
(4'5’1 "4‘—’5)
Z = 2(cos® +tsint)
where &= -T  ~I + 2 ~TT + 4T
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2 = Z(cos ,,_)-J—E.gm(zz )

2 = Z(Cos(_'g'zg)-* Z.an\—f')
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4. z=-8+(8V3)i

(a) Find the modulus of z and the argument of z.

Using de Moivre’s theorem,

(b) find 2°,

(c) find the values of w such that w* =z, giving your answers in the form a + ib, where

a,be R.
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3. (a) Express the complex number —2+(2\/ 3)i in the form r(cosf+isinf), —7 <0 < «.
3)
(b) Solve the equation
2t =—2+(273)i
giving the roots in the form r(cosf+isinf), —z7 <0< x.
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z=5V3-5i
Find
(@) |,
@
(b) arg(z), in terms of 7.
(2)
w= Z(COSZ + isinz)
4 4
Find
(©) 3‘,
z 1)
(d) arg(ﬂ), in terms of 7.
z (2)
12| = [(&BR) +ED" =10
1/ S ,
org2 = — Ean (2'7-2 S‘J's
J VIreJd 2
arg2 = — T - N
= 4
wl| = 2 _ |
4 l 10 5
arg [ W \ = T _ -1 = S
“lz/ 4 6 |2
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4. (a) Given that
z=r(cosf+isinf), reklR

prove, by induction, that z” = r" (cos nf + isinnf), neZ"*

Q)
37 .. 3x
w=3| cosS—+1SIn—
4 4

(b) Find the exact value of w3, giving your answer in the form a + ib, where a, b € R.
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